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      CAUSE AND EFFECT
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CAUSE AND EFFECT
1. 1; The report to the police led to the criminal's arrests.

2. 2; The murders have led to the announcement of the award.

3. 1; The stone-pelting led to the wounded being brought to the hospitals.

4. 4; A is the effect of summer vacation while B is the effect of trying to get relief in summer.

5. 5; Both are the effects of the fact that festivals cause fatigue.
6. 4; Cause for students too get enrolled for town and for authorities to cancel the tour seem not

to have same causes.
7. 4; Fruit and food grains, though both the edible thing but depending upon their time of coming

is market, their duration of any perishable reasons for prices of both the things to go up are
different.

8. 5; The distruption of road traffic and Rail traffic between two towns may be the effect due to
common cause as bad weather or riot.

9. 1; Heavy showers in city may be cause and the called off of cricket tournament may its effect.
10.4; Government decision to distribute foodgrains stock through Public distribution system may

be the effect of the aim of government to provide to foodgrains to poor while the bumper
Khariff crop may the effect to modern technology and the effective measures for agriculture.

11. 2 12. 4 13. 4 14. 2 15. 3 16. 1

17. 2 18. 2 19. 2 20. 5 21. 1 22. 2

23. 1 24. 1 25. 5

26. 1; Here ‘A’ is the cause and ‘B’ is its effect. Note that a signal post makes the driver cautious and help in

reducing incidents related with accidents.

27. 2; The initiative taken by the steel company is the result of the request of the local civic body to the

corporate bodies. Hence, ‘B’ is the cause and ‘A’ is its effect.

28. 4; Both ‘A’ and ‘B’ are independent effects. ‘A’ is the effect of the disciplinary action taken by the govern-

ment against the carelessness of the police, whereas ‘B’ is the result of the good approach of the police.

29. 2; ‘A’ is the result of the resentment caused by the inability of the university authority. Thus, ‘B’ is the

cause and ‘A’ is its effect,

30. 4; ‘A’ is the effect of the change in the climate, whereas ‘B’ is the effect of the desire of the people to enjoy

the spectacular view of sunrise.

31. Here the main problem is load-shedding due to power crisis. Therefore, both the statements seem to be

effects of common cause.

32. 2; Increasing awareness about health leads to realisation of importance of yoga and exercise.

33. 4; Both the statements are effects but of independent causes. The staff of Airport Authorities went on

strike due to possible threat to their jobs. But it is not clear why they called off the strike.

34. 2; Remarkable growth in Indian economy is raising the standard of living.

35.1; Statement A is the cause and statement B is its effect.

36. 2 37. 5 38. 1 39. 4 40. 4

41. 4; Suffering from malaria will be result of any particular reason while closing clinic by private medical

practition will also be result of some other reasons.

42. 4; If date 17th given in the statement B had been 16th in that condition the result would have been of (A)

and (B). Here both seem results of independent reasons.

43. 4; The number of people establishing industries would have decreased due to increasing in tax last year.

As a result of it the government is trying to attract the people to set up industries by giving special

package to them.

44. 2; The produced vegetables will not be reaching the local markets due to flood situation created by the

continuous raining for last a few days. AS a result of it the price of vegetable will have increased.

45. 1; Crimes will have decreased due to increasing checking. As a result of it smaller incidents have de-

creased.

46. 2  47. 1       48. 5        49. 1      50. 2
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